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PROBLEM ONE:

Name:

ID no.:

Using nodal analysis, find the nodal voltages and all the currents (i;-is) in this circuit.
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PROBLEM TWO:

Use mesh analysis to find the currents i;-i, then find the power dissipated in the 2kQ resistor.
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PROBLEM THREE:
Find V(t), i)(t), given that V(t=0) =5 V. i
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PROBLEM FOUR:
Find the Thevenin & Norton equivalent circuit of the circuit below
with respect to terminals a and b:
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PROBLEM FIVE:

Find Z, for this circuit:

L, R,

R,
A AA g

- A L L

LR

JIH‘;L' + 2] \,‘LULz + PL

Zeg =

Page 6 of 6.

Printed on 5/17/2010 10:07 AM

G L e R et

SIGERNT © ¢ T S SRy Pt e



	ScanImage001
	ScanImage002
	ScanImage003
	ScanImage004
	ScanImage005
	ScanImage006

